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1.(20%) Please identify the zero-force members in the truss.
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2. (20%) For the beam and loading shown, (a) draw the shear and bending-moment

diagrams, () determine the maximum absolute values of the shear and bending
moment.

{..2 LLN;’SHI

s

A
: |
~ i I 1.8 1m ———

0.6m 0.6 m 0.6m




KL KE 108 R FRERALHBAFSKXARL

j} . EAIREA S8 TEAE (AR HH) 52

2B 3A10B(EHB) 21 & AL SKABE 3 R

3. (20%) Determine the force in members BD and DE of the truss shown

l V) I‘\ \ [\

30
T 1 \\\\\
-‘\‘T:\\
.
.
9 . NI
2.4 m .
T
l 1505 g\:\ B ; ~ (
NI
N
Y t ) \\\?’:‘ ",
Z.ot 1hH RN
T
N L R .
y 155 ‘\\ . }) ‘‘‘‘‘‘‘‘ ~e | I:
g S E IS AT, > > o — N
K i :‘ S S A B P T T VORI SR S mmvH
N .
Iy
.
T
T
% I
2.4 m T
n \;\.\
ey G
4.3 m l

4. (20%) A square foundation mat supports the four columns shown. Determine the
magnitude and point of application of the resultant of the four loads.
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5. (20%) A beam of hollow box is supported and loaded as shown in Fig. (a) Draw
the shear and moment diagrams. (b) Determine the maximum tensile and

compressive stresses in the beam.
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